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I) General Awareness

Which Airline on 17-12-2014
cancelled its 150 fights due to ol
companies refusal to supply fuel and

B ditbusands of fliers were left

stranded 7

(A) Indigo

(8) Jet Airlines
(C) Spice Jet
(D) Go Air

In which city of Pakistan, Tallban
gunmen stormed an army run school
and killed 132 children and 9 staflers
on 16-12-2014 ?

(A) Lahore

(B) Peshawar

(C) Islamabad

(D) Karachi

In the small car segment, Tata Motors
came out recently with which car
comprising Electronic Power
Assisted System with ‘Active Return’
function and speed sensitive power
steering 7

(A) Zest

(B) Indica

(C) Bolt

(D) Nano

Expand CBI

(A) Crminal Branch of Investigation
(8) Criminal Bureau of Investigation
(C) Central Branch of Investigation
(D) Central Bureau of Investigation

Name the Indian-American who has
recently become the youngest ever
US Surgeon General at the age of 37
(A) Vivek Murthy

(B) Vikram Murthy

(C) AmiBera

(D) None of these

6.

10.

Kidambi Srikanth is a famous
(A) Shooter

(B) Boxer

(C) Shuttier

(D) Weight Lifter

Who among the following introduced
local self government in India 7

(A) Lord Canning

(B) Lord Rippon

(C) Rajaram Mohan Roy
(D) Lord Mountbattén

The statue of Gomateshwara at
Shravanabelagola was built by

(A) Chandragupta Maurya

(B) Kharavela

(C) Amoghavarsha

(D) Chavundaraya

Which of the following is not a metal ?
{A) Ammonia

(B) Sodium

(C) Radium

(D} Plutonium

Antigen is a substance which
(A) Lowers body temperature
(B) Destroys harmiul bacteria
(C) Triggers the immune system
(D) Isused as an antidote to poison
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As

. Whaere is Golconda Fort 7

(A) Jaipur
(B) Delhi
(C) Hyderabad
(D) Aurangabad

Kuchipudi is a dance form of
(A) Tamil Nadu

(B) Andra Pradesh

(C) Kerala

(D) Karnataka

Four 1.5 V cells are connected in
paraliel. The output voltage is

(A) 1.5V

(B) 6V

(C) 0375V

(D) None of these

Light year is the unit of
(A) Time

(B) Distance

(C) Light

(D) Intensity of light

Which Article of our Consthution has
abolished untouchability ?

(A) Article 14

{B) Article 15

(C) Article 16

(D) Article 17

16.

17.

18.

18.
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Which day is observed as United
Nations Day ?

(A) May8

(8) April 7

(C) October 24

(D) October2

Among the following who represents
Theater Artists in Rajya Sabha 7

(A) Tendulkar

(B) Oscar Fernandes
(C) Jayashree

(D) Dr. Manmohan Singh

Among the following, which is an
input device 7

(A) Key Board

(B) Printer

(C) Visual Display Unit
(D) Graph Plotter

Who directed the film "Dweepa”
(Kannada-Colour-2001) which won the
Swama Kamal for best film and national
award for best cinematography ?

(A) Girsh Karnad

(B) Girish Kasaravalli

(C) Nagabharana

(D) Puttanna Kanagal

Who was crowned Miss World 2014
on 14-12-2014 in the Miss World
Pageant held in London ?

(A) Koyal Rana

(B) Kathryn Bigelow

(C) Rolene Strauss

(D) Whitney Houston
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il) General Inteliigence and Reasoning Abllity

Choose the one that does not belong

1o the group of the other three.
(A) 12 (8) 18
C) 21 (D) 28

It A is substituted by 2, Bby 3, C by 4,
Dby 2, Eby3, Fby4andsoon, then
what will be total of the numerical
values of the letters of the word LINE 7

(A) 14 (B) 12
(C) 16 (D) 15
KNNLQJTH?

(A) WE (B) WF
(C) XF (D) XE

Directions{Qs. 241026): A, B,C, D, Eand
F are sitting along a circle facing the centre.
B is an iImmediate neighbour ot D. C Is an
immediate neighbour of A but Is not an
immediate neighbour of F. A Is o the
immediate left of B.

24. Who s second to the rightof E 7

A

(A) B
(C) D

(B) A
@) F

Who are the neighbours of F 7
(A) DandB
(By DandA
(C) DandE
(D) BandC

Who is to the immediate right of A ?
(A) B

8) C
) D
(D) E

28.

a1

Directions (Qs. 27 10 29) : These guestions
are based on the following 8 numbers.
283, 347,518, 829, 748, 827.

27,

It the first and the second digits of
each number are interchanged, which
number will be the second lowest 7

(A) 827 (B) 829
(C) 518 (D) 748

I the second and third digits of each
number are interchanged, which
number will be the third highest 7
(A) 347 (B) 748

(C) 829 (D) 827

If the first and the third digits of each
number are interchanged, which
number will be the third lowest ?
(A) 347 (B) 827
(C) 283 (D) 748

if A is denoted by 4, L by 7, J by 2,
A by 8, E by 1and | by 3, then what will
be the numeric form of the word JAILER
when written in the reverse order ?
(A) B13742

(B) 243718

(C) 871342

(D) 817342

If 283 is writlen as 328, 347 as 734
and so on, then which of the following
two numbers will have leasi
ditterence between them ?

(A) 347 and 518

(B) 283 and 748

(C) 827 and 347

(D) 748 and 518
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i) wrar g e e wifdes awam
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T AmRE e
283, 347, 518, 829, 748, 827.
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1w dife |
(A) 12 (B) 18
€ 21 (O) 28

22. afe AdiwmE 2, B 58 3, C
R4, DRI 2, ERNTEI,F
o S8 4, T8 TR 3 "@r e R, A

LINE ¥rez % el % oi@] & 1[ea &1

Fa am FNEm 7

(A) 14 B) 12

(C) 16 (D) 15
23. KNNLQJTH?

(A) WE (B) WF

(C) XF (D) XE
n 248265 BN A B CDESNF
FaER ¥ SR afmE A 18w Dw

2Rl R |Cur AT vt B A F e
uSwh 1 B | A e B ¥ e anff 3t R

24. EFTMA SN WARARE 7

(A) B (8) A
(C) D (D) F
25. FaueEmtamEs
(a) DB
(8) D3 A
(C)y D3mE
(D) BafcC
26. A% gea zih sin a9
(A) B (B) C
(C) D (D) E

27. ﬂﬁum&qﬁaﬁtﬁdﬁiﬂ

Nn.

FEen-aEel 6 = 8, @ e
T = el 7

(A) 827 (B) 829
{C) 518 (D) 748

a2 w1 "Em # et o dat s f)
Heen-aet T e, T A sifEan
) Fyad geft 2

(A) 347 (B) 748
(C) 829 (D) 827
afe & 5o F el ol fat 5w H

wee)-aEe! £ ol @, 7 A g
Hewn A vt 2

(A) 347 (B) 827

(c) 283 (D) 748

aR A @ 4 zmim 8, LW 7, # 2,
R %18, E w1 3 | %) 3 2fen B, 1
JAILER 182 %) 352 & # forae 361
S ey e 7

(A) B13742

(B) 243718

(C) 871342

(D) 817342

a2 28371228, 347 #1734 3w sHfienE
sl formr s &, AP d @ s @
HEAa] 1 3T T H A B 7
(A) 3473518
(B) 2833 748
(C) 8273 347
(D) 7483518




32. In a certain code 'GENIOUS' is
written as 'EGINSOU’. How will
'‘GARNISH' be written in that code 7
(A) AGNRHIS
(B) AGNRHSI
(C) NGRHISA
(D) NGARHSI

33. Ina certain code INKER is written as
KPLCP and GLIDE is written as
INJBC. How will JINKS be written in
that code 7
(A) LJOIQ
(B) MKOIQ
(C) LKOIO
(D) LKOLT

Directions{Qs. 34 to 36) : These questions

are based on the following arrangement of
symbois, letters and numbers,

£L2=7PC7SEH®@ +BK&MS5TV 3r

34. How many such symbols are there in
the arrangemenl, each of which is

immediately preceded by a letter 7
(A) Four

(B) Two

(C) One

(D) Three

35. How many such numbers are there
in the arrangement each of which is
immediately followed by a letter ?
(A) Three
(B) One
(C) Nil
(D) Two

A
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It all the symbols are deleted from the

amangement which element will be

the 5% to the right of the 12" element
from the right end ?

(A) K

(B) H

(€) 8

D) M

P is the brother of Q. R is the sister of

" §.Q s the mother of S. How is P

related o R ?

(A) Uncie

(B) Brother-in-law
(C) Brother :
(D) Father-in-law

. NistoWestof M, P is to the East of

N, R Is to the North of P. What is R's
position with respect io M 7

(A) To the North-West

(B) To the Norh-East

(C) To the North.

(D) Cannot be decided

. Choose the allernative that doesnot

belong to the group of the other three.
(A) Jawaharial Nehru

(B) S. Radhakrishnan

(C) Lal Bahadur Shastry

(D) Narendra Modi

. Kamataka : Bengaluru : : Tamil Nadu : 7

(A) Erode
(B) Chennal
(C) Palani
(D) Madhurai




32. v Ffea 52 4 ‘GENIOUS' #1

'EGINSOU' foéran wman B, # 3 gz #
‘GARNISH %1 F@ fora s 7
(A) AGNRHIS

(B) AGNRHSI

(C) NGRHISA

(D) NGARHSI

v Afvaa $2 4 INKER #1 KPLCP
fovan svar s GLIDE®1 INJBC fovan
a8 1 3 g2 F JINKS =) &8 fvan
FEm 7

(A) LJOIQ
(B) MKOIQ
(C) LKOIQ
(D) LKOLT

%, 34§ 36 foru Fdw : 3 wwa Fr= vl v
s i S smfE
L£L2=7PC7SEH® -BKAM5ETV3=

34, FAH T FrEa v § fred oed s

A

e 7
(A) =W
@) A
() v
(D) #H

0 i 08 B ofw § e e 1§ s

HAAE?
(A) @R (B) T
(C) ¥= D) =
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36. R ww i & avf) wete! &) Pz s 2

o e s @ 128 wem @ afed ain
591 T WA B 7
(A) K (B) H
(C) 8 (D) M
37. PRQHFTIRR IRTESHIATAL|
QuEs#Hiul & I PpwRAT v 27
(A) W /T '
(B) wwen
(C) wid
(D) &

38. N MEFTFEmHR, PaeNSE A8,
REPpHFswiAt AR ERME
waEa H T 7

(A) FeR-yfeem i 31w
() Fr-qd i i

(€) IWFam

(D) T o ol s weet
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lii) Arithmetical and Numerical Ability

. Whatis the least number to be added

to 3333 10 make it a perfect square 7
(A) 31
(B) 84
(C) 78
(D) 57

139-132=7
(A) 13
(B) 2028
(C) 1369
D) 1

The diffterence between 89% of a
number and 72% of the same number
is 391. What is 48% ol that number ?

(A) 986

(B) 1088
(C) 1104
(D) 1212

it J2 =1.414, /50 =7
(A) 35.35
B) 14.14
(C) 8.484
(D) 7.070

08.5% -1.5°

8515 '

(A) 97.0
(B) 100
(C) 121
(D) None of these

46. What would be the compound interest

obtained on an amount of Rs. 11,000
at 10% p. a. for 3 years ?

(A) Rs. 3541

(8) Rs. 38641

(C) Rs. 4,361

(D) Rs 3461

. Acar covers a distance of 816 kms in

720 minutes, What is the speed of the
car in kms / hour ?
(A) 64 kms/ hour
(B) 62 kms/ hour
(C) ©8kms/hour
(D) 60 kms ! hour

. The average of 4 consecutive even

numbers A, B, C and D is 99, What is
the product of B and D ?

(A) 9996

(B) 9800

(C) 9792

(D) 9408

. Iiog 2 = 0.1310, log 5 = 0.2130,

log 10= 7

(A) 0.0279
(B) 0.3440
(C) 1.0850
(D) 0.6550

., f3a=4b,2b=5¢c,a:b:c="?

(A) 15:20:6
(B) 8:15:20
(C) 15:6:20
(D) 20:15:6
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(A) 31 (A) %. 3,541
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€ © 3 430
(D) %. 3,461 [
42. 13°-132=7 47. vw %R 816 Beft. ) g 720 Wi o
(A) 13 ol el B 1 3@ wwow B g A
(8) 2028 i et & 7 . '
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43, ﬂﬁﬁﬁmﬁsmmmm (D) 60, /dz
18, 9 38 wem W : ,
o o $2 48, - Tm sy weand A, B, C s D®
2 i w99 818 WD {4
(B) 1098 99 81 W U T E 7
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(C) 9792
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A+

When an ariicle is sold for Rs. 62,
there is a profit of 24%. What should

be the selling price to make a profit of
30% 7

(A) Rs. 64
(B) Rs. 66
(C) Rs.65
(D) Rs, 67

The market value of a share of Rs. 10
is As. 13, How many such shares can
be bought by investing Rs. 26,000 7
(A) 2000
(B) 200
(C) 2600
(D) 260
“!"’1:5 X2+—1-,.'?

= X
(A) 25 (B) 23
(C) 22 (D) 26

8 men can dig a field in 14 days by
working 6 hours a day. In how many
days can 7 men dig the same flald
working 8 hours a day ?

(A) 14 days

(B) 13 days

(C) 15days

(D) 12 days

Jeevan goes from station A to station B
at a spead of 40 kmv/h and retums from
B to A at a speed of 60 km/h. Find the
average speed of his total journey.
(A) 50 km/h
(B) 49kmM
(C) 48 km/h
(D) 52km/h

a2-

JDD-2Z/ANWX-15

A man is 24 years older than his son.
12 years ago, he was five times as
oid as his son. Find the present age
of the father.
(A) 40 years
(B) 42 years
(C) 50 years
(D) 45 years

. There are threa circles with centers

A, B and C with radil 5 cm, 3 cm and
2 cm respectively. Circlas with centres
B and C touch each other externally
but both touch circle with centre A
intemafly. Find the perimeter of AABC
(A) 10em
(B) 12em
(C) t4cm
(D) 20em

. The area of a rhombus is 24 cn. If

its one diagonal is of 8 cm length, find
the length of its other diagonal,

(A) 7em
(B) 9cm
(C) 8cm
(D) 6cm

. The ratio of the areas of two circles is
9: 16. Find the ratio of their perimeters,
(A) 7:8 (8) 8:5
(C) 3:4 (D) 4:5

. The perimeter of the base of a cone

is 44 cm. Its slant height is 12 cm. Find
its curved surface area,

(A) 264 cm?

(B) 246cm?

(C) 212em?

(D) 260em?

r




51. o v gy 5. 627 ) aeft B o 24%
1 AT e R | 30% HATH 9F & forg

e s e R 7
(A) & 64 (B) ¥.66
(C) %.865 (D) %.67

5. 10 T R ) AEE HF 5. 138 |
%, 26,000 e = 08 FFad S ah?
WEEI R ?
(A) 2000
(B) 200
(C) 2600
(D) 260

- af? n+%=53,ﬁi 12+?1-=-;

(A) 25 (B) 23
(C) 22 (D) 26
. 8 syt TR 6 W2 TN W U Ee
14 =1 4 e € 1 2 @a 7 sl
TIMI 8 92 %18 %t e e fi o
daFad?
(A) 14fE= (B) 13f=
() 15%= (D) 12fA
. Wil AWR | B 9TE a% 40 kvh i &

3% B @R/ A SR @ # 60 kmv/h
i B s @ | R Ew R iAo
#ifam |

(A) 50km/h

(B) 49 km/Mh

(C) 48km/h

(D) 52km/h

60.
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v o UE A H 24 T AE R
12 HTE TR 98 37 92 A ofa A
v | fore o g 3 g s
(A) 40T

(B) 42¥@

(C) s0®®

(D) 453

s 5 #4384, afwad . B
addMadi FIFZ A B3MCRIB
AW C Frgae) g wE A 398 ) v
F0 & S 2T A STl 3 i SEaH
Tt A 7 | A ABC &1 uftf v dfifag |
(A) 1044,

(B) 1241,

(C) 1444,

(D) 204,

v wEEds W AEwer 24 #4128
afg 3o o el g | ot s 8,
i gwt Ryl ) e v i |
(A) 74

(8) o#.

(C) 8&#.

(D) 6 &,

A gai® faran o 16 s AR | 3
it =t srgam v i |

(A) 7:8 (B) 8:5
(C) 3:4 (D) 4:5

E WF o od &) ufifa 44 €50 2
o Tt e 128 L B | e
3 feram e fifa |

(A) 264 3f.

(B) 246% WP,

(C) 212747,

(D) 2608 3.
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iv) Test of Language : Hindi

wyray aftgron : el
fem.uetsne2: Fapmi mwd o | 64 FNEA
T ferfian | (A) @
(B) @k
61. TN 5 o
(A) @I (D) wdm
(8) @& 20
© & frEw: 65 3 66 : Forefia wer =t v ferfi
(D) & 85. (A) HN
(B) TH
62, wHi W (C) T
(A) SIS (D) wmE
il 66. (A) AW
(C) Jq&0 (8) Enfr
() Fe (©) Fwd
(D) W=
w1 : 63 3i% 64 : wdt v 1 @l e Wit |
fadw : 67 i 68 : FEAIEIE A AR
63. Ha e AR |
(A) #
67. (A) M w=s1eEHt |
. (B) W = A h |
€ % (C) Tm IS wEw R
(D) = D) T S=h L
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68. (A) EH T2 Wel T | 71, ‘f’ FagEA Ea d
(B) wEgh R Ea W) (A) faa
() TEhTEEmTEE) (®) Fawh
) (D) fiamd

69. MEH FATFIIERR

(D) =z TRAaW§) (© foe F
|
72. ‘iR -mEIFEAR T |

(A) o

(A) BHF AR FE
(B) =

(B) eI 9aHH HIel
(C) ™

(C) A
(D) WA

(D) wiem ®@

M A 73, ‘v @ e v

(A) 0 A) WD ]

| (8) FwHf @)
(€) wmwh () foafem
(D) ¥ (D) Warfem




‘W R A A EFT R
(A) =
(8) e
(C) i
(D) =Y

¥ ) s e w e
(A Towzrm
(B) fommEm
(C) Fmemm
(D) fiwzrEm
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78, T e EEE e
(A) =@
(8) @
(c) o

(D) Faf =N

79. WiHe e EREdEm T
(A) T
(B) &%
(C) wwi

(D) w%s

g0. e wre fag g wid #ifem )
we'

(A) &
(B)
(C) =

D) %
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v) Test of Language : English
W iaroT : S

Directions (Qs. 81 to84) : Read the passage
given below and answer these questions
based on it.

Cynthia was a shy girl. She believed that she
was plain and untalented, One day her
teacher ordered the entire class to show up
for audition for the school play. Cynthia
nearly died of fright when she was told that
she would have to stand on stage In front of
the entire class and deliver dialogues, The
mere thought of it made her feel sick. But a
remarkable transformation occurred during
the audition. A thin, shy girl, her knees
quaking, her stomach chuming in terror,
began to stun everyone with her excellent
performance. Her bored classmates
suddenly stopped their noisy chat 1o stare at
her slender figure on the stage. At the end of
her audition, the entire room erupted in
thunderous applause.

B81. Cynthia was afraid to stand on stage
because

(A) She felt her classmates may
laugh at her

(B) Her stomach was chuming
(C) She lacked self-confidence
(D) She did not like school plays

17

82, Cynthia's classmates were chatting

because

(A) It was their turn to act next

(B) They were bored of the
performances

(C) Cynthia did not act at all

(D) The teacher had no control
ovear them

B3. The transformation that occurred

during the audition refers to

(A) The nervousness of Cynthia

(B) The eruption of the entire
room In thunderous applause

(C) The surprise on the faces of
her classmates

(D) The stunning performance of
Cynthia

B4. Cynthia's knees were gquaking
because
(A) She felt nervous and shy
(B) The teacher scolded her
(C) She was very thin and weak

(D) She was afrald of her
classmates




Directions (Qs. 85 and 86) : Choose the
word which Is most opposite in meaning to
tha given word.

85. “Reveal"
(A) Disclose
(B) Proclaim
(C) Hide
(D) Publish

86. “Inaudible”
(A) Suppressed
(B) Low
(C) Murmuring
(D) Loud

Directions (Qs. 87 and 88) : Choose the
word which is most similar in meaning to the
given word.

87. *Design”
(A) plan
(B) wild
(C) delete
(D) desert

88. “Anticipation”
(A) Surprise
(B) Unexpectedness
(C) Expectation
(D) Apology

JDD-2/ANMWX-15

Directions (Qs. 89 to91) : Find out in which
part of the sentence (A), (B) or (C) there is an
error, If there is no error, your answer is (D).

89. One of the important lesson (A) / he
taught me was 1o save al least (B) /

thirty percent of my gross income (C). /
No error (D)

90. Most of the tribals in the region (A) /

are depended on the forest (B) / 1o
eam their livelihoods (C). / No error (D)

81. Senior citizens prefer banks (A) /
which branches are located (B) / near

their homes (C). / No arror (D)

Directions (Qs. 92 o 85) : Fill in the blank

with the appropriate alternative.
92. Where “In a village near
Pune”,

(A) Lives your uncie 7
(B) Does your uncle live 7
(C) Your uncle lives ?
(D) Does live your uncle ?




83. Why

Ae

angry with me

yesterday ?
(A) were you

(B) was you

(C) you were

(D) have you been

Howlong ___ English 7 "Six
months".

(A) do you leam

(B) are you learning

(C) you are leaming

(D) have you been leaming

‘1 saw Naveen at the station when |
was going to work this moming but
he me'.

(A) didn't see

(B) don't see

(C) hasn't seen

(D) didn't saw

Usually | go to work bus.
(A) In
(B) on
(C) by

(D) from

-10-

100.
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Wearrived ______ the airport intime.
(A) on
(B) at
(€) to
(D) by

He had finished his work.

The tense of the verb in the above
sentence is

(A) Past continuous

(B) Presentperfect

(C) Pastperfect

(D) Future

The plural of brother-in-law is
(A) Brother-in-laws

(B) Brothers-in-law

(C) Brothers-in-laws

(D) None of these

He is looking at me.

Name the part of speech of "at' in the
above sentance.

(A) Pronoun

(B) Verb

(C) Conjunction

(D) Preposition




101.

102.

103.

104.

SECTION - B
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Post Specific Subject-Related Questions

The Blood group referred as
‘Universal Donor’ s

(A) O
(B) B
(C) AB
) A

The longest bone of our body Is
(A) Skull

(B) Radius

{C) Humerus

(D) Femur

The functional unit of kidney is
(A) Neuron

(8) Nephron

(C) Alveoli

(D) Pleura

The regulation of blood glucose is
maintained by the harmone

(A)  Insulin

(B) Prolactin
(C) Oxytocin
(D) Testosterone

105.

106.

107,

108.

The colour of the RBC's is given by
(A) Actin
(B) Globin
(C) Chyme
(D) Haeme

Total number of bones in our body is
(A) 208
(8) 206
(C) 204
(D) 200

Total number of chromosomes in our
body is
(A) 47
(B) 44
(C) 46
(D) 45

The normal Hemoglobin level is
(A) 18-23g/di
(B) 14-16g/dl
(C) 8-10g/di
(D) 16-20g/di




101.

102.

103.

104.
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T -
vz wfEiEe fawg - dadt uw

‘e aen’ w anE R 105. RBC &1 auf gadl e stven B

(A) O (A) 3FFRA

®) B (B) W

(C) AB (C) T (Chyme)

D) A (D) ¥ (Haeme)

et i ) ey e i & 106, e 71§ et whit o) s w2

(A) @ (A) 208

(B) afe: wanifEa (B) 206

(C) wmfvesh (C) 204

(D) df@ (D) 200

ey 107, i TrEr 3 gt e ) we B

(A) Al A 47

(B) % U ) 44

© e (C) 46

(D) e .

;ﬂmmwmw 108. wWR femventem = ww frm @

. (A) 18-23g/di

B T (B) 14-16g/di

©) SRR (C) 8-10g/dl

©) At (D) 16-20g/dl
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109.

110.

1.

112

The normal blood glucose level of an
average adult is

(A) 80-110 mg/d
(B) 60 - 100 mg/di
(C) 180-210 mg/dl
(D) 150 - 180 mg/di

The covering of the heart is
(A) Peritoneum

(B) Pleura

(C) Pericardium

(D) Myocardium

The volume of blood pumped from the
Left Ventricle is termed as

(A) Circulatory Volume
(B) Stroke Volume
(C) Cardiac Output
(D) Cardiac Input

Vitamin C Is also known as
(A) Nicotinic Acid

(B) Ribofiavin
(C) Calgiferol
(D) Ascorbic Acid

JDOD-2/ANWX-15

113. Goltre occurs due to the deficiency of

114,

115,

116

(A) lodine

(B) Calcium
(C) Potassium
(D) Chioride

Xerophthalmia is a deficlency due fo
which Vitamin ?

(A) D
(B) A
€ K
(D) E
The blood pressure of a normal
healthy person is

(A) 120/60 mm of Hg

(8) 120/80 mm of Hg

(C) 90/60 mm of Hg

(D) 140/60 mm of Hg

Bradycardia refers to heart rate below
(A) B0 beats/min
(B) 70 beats/min
(C) B0 beats/min
(D) 100 beats/min




110.
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1na

. 3fvea sive @ Frafim w0 e mam 2

(A) 80-110 mg/dl
(B) 60 - 100 mg/di
(C) 180- 210 mg/di
(D) 150 - 180 mg/dl

w2 & e ) wea §
(A) TfrEfEm

(B) FFpEEw

(C) whag

(D) wrETEaR

sl Frera @ oo 6 v e % i
+ wea §

(Ay it gl
(B) ey

(C) w®=aIearEA

(D) = fam

fafir C #1 o ftwea &
(A) Ferfefm s
(B) Tt

(C) #fertata

(D) v ana

113,

114,

115.

116.
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TEIUE §EE SWE B e B
(A) e
(B) whicwam
(C) i
(D) e

o it & sore A Stmdefm dand 7

(A) D
B A
() K
(D) E

HIT TR S o e
(A) 120/60 mm of Hg
(B) 120/80 mm of Hg
(C) 90/60 mm of Hg
(D) 140/60 mm of Hg

dheamfém =1 waem @ wea ) uzen
TEFH

(A) B0 9=F/min

(B) 70 9EFA/min

(C) B0 9&%/min

(D) 100 9=FA/min
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117,

118.

118,

120.

Bluigh discoloration of the skin is
referred as

(A) Hypoxia
(B) Dyspnea
(C) Apnea

(D) Cyanosis

Prolonged bed ridden patients have
the risk of developing

(A) Decubitus Ulcer
(B) Cellulitis
(C) Scabies
(D) Psoriasis

The most preferred site for giving IM
injection of an average adult is

(A) Deltoid

(B) Umbilicus
(C) Giuteal Region
(D) Forearm

Analgesics drugs reduces
(A) Sugar level

(B) Fever

(C) Secretions

(D) Pain

121.

122.

123.

124,

JDOD-2/ANM/X-15

The break in the continuity of bone Is
referred as

(A) Wound
(B) Arhritis
(C) Fracture
(D) Inflammation

ICDS programme initiated In India by
(A) 1965
(B) 1975
{C) 71985
(D) 19881

The national health programs related
to mother and chiid is

(A) Maternal and Child Heaith
Program

(B) Chiid Survival and Safe
Motherhood Program{CSSM)

(C) Reproductive and Child Health
Program
(D) All of the above

The normal supplement of IFA during
antenatal period is for

(A} One tablet throughout period
(B) Only one tabiet for 100 days
(C) 2tablet for 100 days
(D) 3tablets for 90 days
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Ly
o

117, =& et fagefa o w1 wea §

121, 7@ & Pmm s wrwea §
(A) femifsen (A) W
(8) femafm (B) s
(C) siufn (C) T (wrfeneim)
(0y e (D) w&W
118, W3 38 @ 7o W A WiW W w@E | 122, W@ ¥ ICDS wHEH ARG B
| o = wa wn § (A) 1965
'/ (A) BepaTes e ®) 1975
(B) weafrien (€) 1985
(C) wHfrm () ©) 1981
o) - 123. %1 3R v | waam 7w TwRm
118, shem wfem & ferg 1M y=taem 23 = s b
R (A) e sfhe fovgy wresa RN
(A) B (B) =gwE WraTHA e HF HHES
(B) =y wiiR (CSSM)
(C) Fe=wim (C) Toiresdia fve wmgee ¥ Wiy
(D) g (D) Fdrad
| 120, e wat a e § 124, g vt FA e e
| (A) D R (A) Tt vty 3 foro vam el
(B) ¥ (B) 100 1 % fory Fam v riveh
(©) waw (C) 100 A1 % Ry 2 Mitwt
() (D) 90 i & forg o iferad
A -25-




126.

127.

1%i

IFA tablet given when

(A) Hb below 10 g% of a mother
(B) Hb below 10 g% of a child
(C) Both A) and B)

(D) None of the above

The Ovarian cycle is initiated by
(A) FSH

(B) Estrogen

(C) LH

(D) Progesterone

In 40 days of menstruation cycle the
ovulation occurs at

(A) 14" day

(8) 20" day

(C) 26" day

(D) 30™ day

Bluish discoloration of the vagina is
called as

Heger's sign

(B) Goodell's sign

(C) Chadwick's sign

(D) Mq.Donnld’aﬁnn

(A)

129.

130.

131.

132.
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Regular rhythmic contraction can be
felt during bimanual examination is
called as

(A) Palmer's sign

(B) Heger's sign

(C) Uterine suffle

(D) Rovsign's sign

The normal hean of the infant, after
birth may range between

(A) 100to 180

(B) 13010170

(C) 120to 160

(D) 10010130

Morning sickness usually disappears
by the end of

(A) 1 month
(B) 2months
(C) 3 months
(D) 4months

Which formula is used for calculating
EDD 7

(A) Naegele's Rule
(B) Infant Formula
(C) Labor Rule
(D) Rule of Nine




125.

126.

127.

128.

IFA Tiferat &t aeft &, wm

(A) =T Hb 10 g% F AT b
(B) T 1 Hb 10 g% FFAdn @
(C) A )t

(D) Fwtt =ré 7l

FUEIIT W W A A 2
(A) FSH

(B) W

(C) LH

(D) SRR

40 & % v ome v seianf da @
(A) 143 fm
(B) 204
(C) 264 fem
(D) 304 fm

Fif & A1t fyadls & = €
(A) B anes

(B) TEew HTH

(C) wefwga

(D) ¥, EHTwEH A

130.

131.

132.
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Frafem wme S e wem &
e venE i mwad 6, SR wea ¥
(A) W EE

(B) WriEmER

(C) FeRAEE

(D) TewmeE Ew

=1 % a2 fin] = wwE e d
Hdamme

(A) 100# 180

(B) 130% 170

(C) 120% 160

(D) 1008 130

s e amra: w8 & anfiw T
L

(A) 1R

(8) 2%dR

(C) 3wEn

(D) 4méR

EDD 1 femm & & forg Sen g
HFRE 7

(A) Fhew &

(8) B
(C) wasfm
(D) = fam

o

e




134,

135.

136.

Which of the following is recognisad
as teratogenic ?

(A) Scarlettfever

(B) Rubella

(C) Faver

(D) Coronary Hean Disease

Which of the following is not present
in bottle formula for new born 7

(A) Amino Acid

(B) Complex carbohydrate
(C) Electrolytes

(D) Immuno globulin

Endometriosis is common in
(A) Nullipara

(B) Multipara

(C) Perimenopausal age
{D) Virgins

During Pregnancy the client will have
an increased need for

(A} Potassium
(B) Sodium

(C) tron

(D) Carbohydrate

137.

138.

138,

140,
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A possible complication of an infant
delivered by cesarean section is

(A) Respiratory distress
(B) Hypothermia

(C) Hyperthermia

(D) Anemia

Immunity transferred to fetus from
mother through placenta is

(A) Active natural immunity
(B) Passive artificial immunity
(C) Passive natural immunity
(D) Active artificial immunity

First trimester morning sickness can
be overcome by

(A) Eating nothing until nausea
subsides

(B) Eating Fat before sleep
(C) Taking heavy food at bed time
(D) Eating protein before sleep

The drug of choice for eclampsia is
(A) MgSO,

(B) Prostodin

(C) Timolol

(D) Beta Adrenergic Blocker




133.

134,

135,

136.

= 1 @ e 2oeiarias s A @ 7
(A) fgl==m

(B) waem

(C) ==

(D) w=a oM

4 g By % fore Fmr 3 @ e afem
1 I e

(A) i sps

(8) Hhiaw FHiRge
(C) e

(D) ¥ e

weEmfsi v g amea
(A) 3TuEEn

(B) wgwd

(C) Hiranfrgfaam

(D) Fanft

mafaeen 4w =) 3o sy
sraTaEaT e

(A) "REiEREm
(B) wfan
(C) =

(D) wwEiRge

137.

138,

139.

140.
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frafer favm & wedt 6 o g
TR TR 1 e R

(A) o84 HF2
(B) W
(C) Rurwfifn
(D) o

a & gRI T A o v i wfwe
(A) wfFa aiis wfwan

(8) Tfesa 5w wfwan

(€) fAfsky Yaffs uftran

(D) wfiha P s

et ol T firees g A fo
1w

(A) s i snadigeaand
(B) EMA WA T EHARA

(C) |H A IEa Wil Wis WA A

(D) ¥R 8w WA EA R

veeTeatern & fore ward 3
(A) MgSO,

(B) wnifEa

(C) fesireier

(D) Tz sfgtwfos sofa

e




141,

142,

143,

144,

Which of the following is used in
colposcopy 7

(A) Povidone lodine

(B) Acetic Acid

(C) Methylene blue

(D) Gentian violet

The commaonest cause of postpartum
hemorrhage is

(A)
(B)
(€)
(D)

Instrumental Trauma
Postmature Pregnancy

Premature Pregnancy
Atonic Uterus

The commonest type of episiotomy
(A) J shaped episiotomy

(B) Mediolateral episiotomy

(C) Lateral episiotomy

(D) Left Lateral episiotomy

Drug of choice for induction of
abortion is

(A) Prostaglandin
(B) Ergometrine
(C) Mathtrexate
(D) Clomiphene Citrate

145,

146,

147.

148,
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Kiinefelter syndrome is indicated by
(A)
(B) Chromosome 23XY

Chromosome 47XXY

(C) Chromosome 47 X
(D) Chromosome 46XY

The complaint ol Oligopmenorrhea,
obasﬁynndiﬂmﬁsrnhnzﬁmrnld
lady indicates

(A) PCOD

(B) Cancer of Endometrium
(C)
(D) Pregnancy

Prolactenoma

Birth trauma Is a risk factor for
(A)
(8) Endometriosis
(C) PID

(D)

Uterine Prolapse

Abortions

Total calorie requirement for a
pregnant wornen Is

(A) 1000 to 1500 keal

(B)
(C)
(D)

2000 to 2500 keal
2500 to 2700 keal
2700 to 3000 keal
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141, et fe i @ R s 145, faerroat frgm we gfam s
| s R ? (A) 47XXYFVE
(A) TfE s (B) 2axymwiwm
(B) wHfEw sy (C) 47 XFWEm
| '_ (C) wfufem s (D) 46XY®HHEEN )
B 146, 20adawften i shferiiefi, zgem V
{ 142, TRV TR A R g 3k ferafesmn 1 frrad s & ]
' PRk £ (A) PCOD
B TR (8) w w Haw
(©) e (C) WA
(D) iR T e
e o i 147, =% wEm Uw, v fog afim o v 2
(A) J s i g oY e
®) Pifsietorer et ::: :;'3 i
(C) wewe gffisirerdt
(D) i
(D) @ et shfadend
148. el wfiten & fom ot St
! 144, iy & fovo P afwg am 2 7 STAvEE S 2
(A) TR (A) 10008 1500 keal
(8) uwiigA (B) 2000 @ 2500 keal
(C) Augmde (C) 2500 2700 keal
(D) et wwz (D) 2700 3000 keal |
Ax 31 b

.
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150.

151

152,

First fetal movement felt by the mother
is called as

(A) Ballotment

(B) Quickening
(C) Lightening

(D) Kicking

Pearly white or silvery bright lines,
headed after dellvery is called as

(A) Linea Albicantes
(B) Linea Nigra
(C) Striae Gravidarum
(D) Striae Nigra

Maconium mixed with liquor amnil
indicates

(A} Congenital anomalies
(8) Chromosomal anomalies
(C) Fetal Distress

(D) Chorea

Presence of complete ring of
bubbies at the meniscus in shake
test indicates

(A) Maturity of fatal brain
(B) Septal defect

(C) Maturity of fetal lungs
(D) Fetal cyanosis

153.

154,

155.

1586.
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Less than how many number of kicks
in 12 hours indicates the failure of
Placental Function ?

(A) 2
(B) 5
(€) 10
(D) 20

Total weight gain of mother in
pregnancy is

(A) 10to12kg

(B) 1Bt 20kg

(C) 121014 kg

(D) 9t 10 kg

Normal labor is called as
(A) Spurious Labor
(B) Dystocia

(C) Eutocia

(D) False Labor

‘Show' is the sign of

(A) True labor pain

(B) False labor pain

(C) Sign of Abnormal labor
(D) Sign of Placenta Previa
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. Hl oy veef sewe TRgEER A

wwa d

(A) =Tz

(B) Rl

(C) wmseFm

(D) ffEn

W & e HidTeR JE 1 =i
anehrett tad faws w8
(A) Linea Albicantes

(B) Linea Nigra

(C) Striae Gravidarum
(D) Striae Nigra

e aftt fevert wret v fiam faren 8
(A) SHEE HEWNEA

(B) IR =l ST

(C) ymEF

(D) i (Chorea)

feam & whaw 3 FagE & o apl
T 3 e 1 B 2wt 2

(A) & w6 i
(B) waanfat
(C) T s Hugw] $1 uftes=a
(D) o fifer

153.
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12292 B et @ snad Ewm
& e zatdfi 2 7

(A) 2
B 5
() 10
(D) 20

mfehTer § w1 g e fn v e v
(A) 10 @ 12kg
(B) 18 §20kg
(C) 12 14 kg
(D) 9 H10kg

HIT TEE HHed §

(A) SV v

@) R

(C) H&iwn

(D) 1w

"ot (Show) e sre a8
(A) el e e

(B) & W d=

(C) ST WHE Fa
(D) =z fuafen = dEa
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158.

159.

160.

What Is the total time period for the
3" stage of labor primi and multi ?

(A) 15 minutes
(B) 30 minutes
(C) 45 minutes
(D) 1hour

After delivery the immedialte care
given to the baby is

(A) To clear the airway

(B) To clamp the cord

(C) Ciean the cord

(D) Initiate the feeding

Overlapping of the paritel bone during
birth is called as

(A) Caput
(B) Moulding
(C) Hematoma
(D) Fixation

Which of the following drug is given
to increase uterine contraction 7

(A) Methargine
(B) Oxytocin

(€) Pethedine
(D) Phenergan

161.

162.

163.

164.
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The process of giving birth is called
(A) Parturition

(B) Postpartum

(C) Lightening

(D) Labor

What is the normal dilatation of cervix 7

(A)
(B) S0cm

20cm

(C) Tecm

(DY 10cm

The duration of puerperal period is
(A) From delivery 1o 1 week
(B) Delivery to 4 weeks

(C) Delivery to 6 weeks

(D) Delivery to 10 weeks

The vaginal discharge during the first
fortnight of puerperium is known as
(A) Show

(B) Lochia

(C) Effacement

(D) Leucorrhea
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What are the indications of cesarean
section 7

(A) Fetal distress

(8) Central Placenta Praevia
(C) Obstructed Labor

(D) Al of the above

The hormone responsible for lactation is
(A} Growth Hormone

(8) FSH

(C) Prolactin

(D) Corpus Luteum

At fetus have fine downy halir which
is called as

(A) Vemix caseosa
(B) Amnion
(C) Chorion

(D) Lanugo

The main objective of nursing care in
asphyxia baby is

(A) Initiate early breathing

(B) Administer oxygen

(C) Gentle Handling of the Baby
(D) Maintain clear Airway

169.

170.

171.

172.
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Cyanosis in preterm baby is due to
(A) Jaundice

(B) Cleft Palate

(C) Respiratory distress syndrome
(D) Intra cranial injury

In fully flexed cephalic presentation
we leel

(A) Occiputof fetus

(B) Sinciput of the fetus
(C) Eyebrow of the fetus
(D) Oral cavity of the fetus

Noenate is resuscitated if pulse rate
is below

(A) 40 beats/min
(B) 60 beats/min
(C) B0 beats/min
(D) 20 beats/min

Which of the following is tertiary level
of prevention 7

(A) Health Promotion

(B) Specific Protection

(C) Early Diagnosis and Treatment
(D) Disability Limitation
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Only human beings are reservoir for
(A) Smallpox

(B) Influenza

(C) Salmonella

(D) Rabies

As per the latest WHO guidelines
which dehydration status required
ORS

(A) Mild dehydration

(B) Moderate dehydration
(C) Severe dehydration

(D) Any form of dehydration

Maximum maternal mortality is seen
(A) Hepatitis B
(B) Hepatitis E
(C) Hepatitis A
(D) Hepatitis C

Which vaccine Is contraindicated in
pregnancy 7

(A} Rubella

(B) OPV

(C) BCG

(D) Hepatitis

177.

178.

180.

178.
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In Polio transmission, easy block can
be applied by acting on

(A) Reservoir

(B) Susceptible Hos!

(C) Faeco-oral route

(D) Agent

Vaccine which is given at the earliest
(A) BCG
(B) MMR
(€) DT
(D) DPT

BCG Vaccine is administered to
children

(A) Intradermally
(B) Subcutaneously
(C) Intramuscularly
(D) Orally

Tuberculin test is read after
(A) 48 hours
(B) 72 hours
(C) 96 hours
(D) 24 hours
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incubation period for mumps is
(A) 18 days

(B) 14 days

(C) 10days

(D) Sdays

Which of the following gives lifelong
immunity after an attack ?

(A) Typhoid
(B) Mumps
(C) Tetanus

(D) Diphtheria

Communication period of chickenpox is
(A) till last scab falls off

(B) 4-5days after rash

(C) only during incubation period

(D) only upto fever lasts

Sharp instruments may be sterilized
with

(A) Radiation

(B) Lysol

(C) Hot air

(D) Any of the above

185.

186.

187.

188.
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Which of the following is powerful
disinfectant 7

(A) Phenol

(B) Lysol

(C) Dettol

(D) Potassium Permanganale

Keratomalacia is associated with
(A) Measles

(B) Mumgps

(C) Rubella

(D) Chickenpox

For disposable items, the best method
for starilization Is

(A) Dry heat

(B) Incineration
(C) Gamma radiation
(D) Bolling heat

Vertical Transmission is by
(A) Mosquito

(B) Direct contact

(C) Droplet

(D) Placenta
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. Which is most difficult to block

spreading of 7
(A} Vector

(B} Man to man
(C) Airbome
(D) Waterborne

The period after entry of the organism
to produce maximum infection is
Known as

(A) Incubation Period
(B) Generation time

(C) Serial interval period
(D) Lead time

The drug used by Health workers in
the management of Acule respiratory
liness is

(A) Clotrimoxazole
(B) Chloramphenicol
(C) Benzyl Penicillin
(D) Gentamicin

Prevalence of tuberculosls infection
is measured by

(A) Chest X-ray
(B) Sputum AFB
(C) Tuberculin Test
(D) Sputum Culture

193.

194,

195,

196,
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Malaria Is transmitted 1o man by
which mosquito ?
(A) Culin
(8) Culex
(C) Aedes
(D) Female Anophophele

Identify the water bome disorder.
(A) Dengue )

(B) Malaria

(C) Cholera

(D) Polio

The procedure of removal and ligation
of Fallopian tube is refarred as

(A) Mastectomy

(B) Vasectomy

(C) Appendectomy

(D) Tubectomy

The best time for IUD insertion is
between which days of Menstruation
cycle ?

(A) within 2 days

(B) Ato7days

(C) 81010 days

(D) 1110 14 days
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187. The metal which is commonly used | 199. The Multi-Purpose Worker In general
for tamily planning is sarves a rural population of
(A) lron (A) <500
(B) Aluminium (B) 1000
C) 3000
(C) Copper ©
(D) 5000
(D) Siiver
200. Thesystem of storing and transporting
198, Mala D is an example of vaccines is termed as
(A) Pill form (A) Cold Chain
(B) Injectable contraceptive (B) Freezer Chain
(C) Vaginal diaphragm (C) Cool Chain
(D) Foam tablet (D) Vaccination
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IMPORTANT INSTRUCTIONS TO CANDIDATES

Frferaml & fem newgul sAm

This booklet contains 48 pages.
Please check all the pages of the Bookial
carelully, In case of any defec!, please ask
the Invigitator for replacamant of the Booklet.
Directions : Each question or incomplete
statement |s followed by four alternative
suggested answers or completions. In each
case, you ane required to select the one that
cotrgctly answers the question or complates
the statement and blacken (@) appropriate
circle A, B, C or D by Blua/Black Bal-Point Pen
inst the quastion concemed In the
Answer-Sheet. (For V.H. candidates
corresponding circle will be blackened
by the scribe)
Mark your answer by shading the appropriate
be shaded completely withoul lsaving any space.
The correct mathod of shading is given below.
hiriong MoTrod WVisPwsd | Winnyg Metwr || Comso Moo
lﬁ}ﬂQDHDEDQ C® 0 Ol0 O
The Candidate mus! mark his'her response
after careful consideration.

There is only one correct answer 10 sach
question. You should biacken (@) the circle
of the appropriate column, viz, A B Cor D.
It you biacken (@) mere than ane circle
against any one question, the answer will be
treated as wrong. I you wish to cancel any
angwer, you should erasa thal black
mark in the circle in the Answer-Sheet and
than blacken the circle of revised response.

. A maching will raad the codad Information

in the OMR Answer-Sheel. In case the
informalion & incomplate/differant from the
infermation given in the application form, the
candidatura of such candidate will be treatad
as cancedled.

. Use tha space lor rough work given in the

Question Booklet only and not on the
Answer-Sheal.

_ You are NOT required to mark your answars

in this Booklet. All answers must be
indicated in the Answer-Sheet only.
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Go through instructions given in Page No. 1 (Facing Page)
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